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Answer the following as directed :

(a) @M 4 SERIN
Supply is a concept.
(i) ¥
stock

:
|
\
|
i
|
|
(i) 492 HAF TGS
\ flow and stock
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(iii) =a

flow

(iv) €793 GOS8 w2
None of the above

( wm Tl Ay Tfrsa )

( Choose the correct answer )

(b) I Tq 10% ARqET @R e oiRdl 14%
AR =, (OB E,

If change in price is 10% and change in
demand is 14%, then E, is

(i) 9FOF SEF T
more than unity
(i) 9FOF I T
less than unity
(iii) 99 TWF T
equal to unity
(iv) 0 23
Zero

( wm Teaw! Ak Sfereat )

( Choose the correct answer )
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(€) WS« THSIGE SIS AN wea, arfen
A consumer is in equilibrium, when

) s> =
MU, P,

y Yy

MU »
(i) ——% =X
MU y P,

(iv) S*¥F OIS FZW
None of the above

( wa Ten! Alfe Sfereal )

( Choose the correct answer )

(d) T8 WH GEe @R AR =
The Engel curve for an inferior good
(1) ANAS Cle&
slopes negative
(i) RF TS
slopes positive
(i) JII &
is horizontal line
(iv) Te@ @&
is vertical line
( ®% Teaw! Mk Sfaeatl )

( Choose the correct answer )
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(e)

(9)

(h)

P25/19

BT T Seme SiF Soowg WES 47
RN spoads o w0
( wm 1 ™ o)

Production function shows : the
technical relationship between input

and output.
( Write True or False )

aFe W 2
What is real cost?

I FAS @IS JF AREAB woo (2 R?

The concept of opportunity cost is

associated with

(i) Marshall
(ii) Senior
(1)) Knight

(iv) ST Al =7
None of them

( Wz Teqn! A Sfredl )

( Choose the correct answer )

GEHA Fe! WF i we-EeE RN
Weq FoF [{oqo |
(wad @ wET =74 )
The relationship between the degree of
monopoly power and price elasticity of
demand is inverse.
( Write True or False )
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w=re frabysa 5 Gat @4l (7 e sif Bt . 4x4=16

Write short notes on the following (any foun :

(@) i S Pefoeeet

Cross elasticity of demand

>
€

(b) THG &
Budget line
c) "I e

Price discrimination

(d) MR RIS St XY
Law of variable proportion
(e) GIEHLA IS @ &2l
Supply curve under monopoly
3. (a) TIiFE W RfoRrFel (@ v e
9| ABRST TIFT wmfe @WO?  10+1=11
Explain the different methods of

measurement of price elasticity of

demand. Which is the most suitable
measure?

<l / Or

(b) viwR va Ffegerel wie W FBfsgerroR
GINCHE W 41 w9 Rwms o3
PRI 9%y I 541 | 7+4=11

Explain the concepts of price elasticity
and income elasticity of demand.

Describe their importance in economic
analysis.
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4. (a) RITTE @Y GRAR TS SATSTER SIPTETS]
e 9 afFad i 1| SATSIE Tl

ARTET 3 STl 8IS F A “tT?
g+4=12

Explain consumer’s equilibrium with
the help of indifference curve approach.
How will a change in consumer’s
income affect his equilibrium?

%=E&/ Or

(b) TR ¥CR WiE dfoyem ooy wge |
TSR @3, FrE o i fies w9 ceae
Y Ao TR foaq TRIwe iRyl F 1 4+8=12

Define income effect and substitution
effect. Explain the income effect in case
of normal, inferior and Giffen goods
with the help of suitable diagram.

5. (@) Toivee dfowe Ry 52 s @R
MRS TS FRENN  dfoni, IR
Afon S TRRPHIN efonis S F4 |
1+10=11
What is the law of returns to scale?
Discuss increasing, constant and

decreasing returns to scale with the

help of isoquant.
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(D)

6. (a)
(b)
P25/19

e[l / Or

}1"9‘45 LA w41 L '\5I[4T:f..54 ‘L/\C' <kl
TAd g4l 5+6=11

Discuss the relationship between short-
run and long-run average cost curves.
Explain the L-shaped LAC curve.

Al v B9 4 dfewifel asae e
a7 dAfopm wF SopeE SRSl TP
ey <l =, e w4 | 1+10=11

What is normal price? Discuss how the
long-run equilibrium of industry and
firm are ditermined under perfect

competition.
o249l / Or

I AR GdaETe wre HIEE F 19
e SR AR @ [ 1=,
Ifq 39| 11

Describe how profit maximizing output
and price are determined in the long

run in a monopoly market.

{ Turm Qver )




(@)

(b)

('8 %)

TR efscifrel aaR et | ZEIIETO
QTR qERT  @ERE Sy W S
Seote Brepet w11 2, IR0 T | SR
oISl qERs «3d Sy S T

SEreifds are Se FEE ? 1+8+2=11

Define monopolistic competion.
[llustrate how a firm in monopolistic
competition determines equilibrium
price and output in the short run. Does a
firm in equilibrium in monopolistic
competition always make supernormal
profit?

524l / Or

¥ AFoiN ST FF @E? 79 ERIPIT F+
Rire qsias wq S Sedme faef sifFa

g <=9 | 2+9=11

What is oligopoly? Explain the price-
output determination Pprocess under
price leadership in oligopoly.
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